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QUESTION 1
A company ofering house insurance policies has several policy optons. They depend on the following factors:

-Building type: house, semi-detached, apartment building, cotage Material: wood, concrete, brick, mixed Locaton: city,
suburb, countryside, wilderness It has been decided to use the pair wise test technique and apply 2-wise coverage. To
design the test case an appropriate orthogonal array needs to be located. Which of the following orthogonal arrays is to
be selected for testng the house insurance policies? [K3] 3 credits

1 2 3 £ 5
1 1 1 1 1 1
2 1 2 3 3 1
3 1 3 2 3 2
4 1 2 2 1 3
5 1 3 1 z 3
6 1 1 3 pi 2
7 2 2 2 z 2
8 F. 3 1 1 P
9 2 1 3 1 3
10 | 2 3 3 Pl 1
210 2 1 2 3 1
22 2 2 1 3 3
13 | 3 3 3 3 3
14 | 3 1 2 Fi 3
15 | 3 2 1 pi 1
16 | 3 1 1 3 2
=l 3 2 3 1 2
18 | 3 3 2 1 1
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1 2 3
1 1 1 1
2 i | 2 *
3 1 3 3
4 1 4 4
5 2 1 2
6 2 2 3
7 2 3 4
8 2 4 2§
9 3 1 3
10 | 3 2 4
i 3 3 1
12 | 3 4 2
13 | 4 1 4
14 | 4 2 1
15 | 4 3 2
16 | 4 4 3
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Correct Answer: C

QUESTION 2

Based on the classifcaton tree show below, how many test cases are required using the classifcaton tree method?
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Colour Shape
Red Blue Green Triangle Circle

Size of triangle
..—-"-'-_ _--"‘--
Small Large

[K3] 2 credits B. 3
C.4
D.6

Correct Answer: B

QUESTION 3
The use case will be used as a basis for the design of usability test scenario\\'s. As a tester you are asked to review the

ATM use case from the perspectve of usability testng. As a tester you are asked to review the ATM use case provided
below. The use case will be used as a basis for functonality testng to be performed later.
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System: X¥Z Bark ATM

Goal of test The goal of this use case is to test the withdrawal of cash
from the AT

Description Context: This is core functionality, so this is an important '
test of a frequent usage function

Actors: Any user may use this function

Preconditions | The ATMis on and functional

The user has a current debit card

Description of | ATM start screen is showing
use case flow
the user inserts card

the user types in PIN

the user selects "cash with receipt”

the user selects £50

&.  the user selects "no further service”

Expected results | The ATM returns the card, delivers £50 and a receipt,

clears the screen and displays the start screen

e

Failure 0On screen instructions not clearly displayed

conditions On screen instructions not simple to follow

Card not returned (see functional tests)

Additional Note response times
attention points

Which one of the comments, described hereafer, would be the MOST important one you would make? [K3] 2 credits
A. Acceptance criteria not defned

B. Business priority is missing

C. Post conditon not defned

D. Alternatve fows are missing

Correct Answer: D

QUESTION 4

A diamond retailer is introducing a new stock taking system. Each diamond is assigned a character that represents the
colour. The valid domain for the character ranges from D to Z. The colour is then graded using the following scale:
Which of the following test sets will provide the best equivalence parttoning coverage? [K3] 2 credits
A.D,F,G,H,K,M,N,P, T,Z

B.D,G,K/N,S

C.A E,HLPT?
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D.E,H, L, MU,

Correct Answer: C

QUESTION 5

Consider the following descripton in a defect report "Nasty bug trashed contents of new fle that | created by formatng
some text in symbol font, wastng my tme." Which TWO of the following comments would you immediately make based
on the defect descripton above? [K4] 3 credits, 1 out of 2 correct 1 credit

A. Needs to be neutralized

B. Steps to reproduce are unclear

C. No atempt to isolate the defect

D. More than one defect in one report

E. Possible duplicate

Correct Answer:. AB
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